
Year 1 – Summer Block 3 – Time

Describe Position  2
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Introduction

What colour should each shape be?

• The shape down from the 

heart is red.

• The shape to the right of 

the heart is green.

• The shape down from the 

triangle is orange.

• The shape down from the 

circle is yellow. 

• The shape to the left of the 

heart is pink.

• The shape up from the 

cross is blue.

© Classroom Secrets Limited 2019



Introduction

What colour should each shape be?

• The shape down from the 

heart is red.

• The shape to the right of 

the heart is green.

• The shape down from the 

triangle is orange.

• The shape down from the 

circle is yellow. 

• The shape to the left of the 

heart is pink.

• The shape up from the 

cross is blue.

© Classroom Secrets Limited 2019



© Classroom Secrets Limited 2019

Varied Fluency 1

Complete the sentences.

The eggs are on the

______________ shelf.

The apple is on the

______________ shelf.

______________ the beans are 

the crisps.

top middle bottom

above        below
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Varied Fluency 1

Complete the sentences.

top middle bottom

above        below

The eggs are on the

bottom shelf.

The apple is on the top

shelf.

Above the beans are the 

crisps.



Varied Fluency 2

Answer the questions below.

A) Which colour is above the blue block?  

B) Which colour is below the purple block?  

C) Which three colours are at the top?  

green orange purple

yellow blue red
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Varied Fluency 2

Answer the questions below.

A) Which colour is above the blue block?  Orange

B) Which colour is below the purple block?  Red

C) Which three colours are at the top?  Green, orange and purple

green orange purple

yellow blue red
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Varied Fluency 3

Describe the positions of the animals below.

Where is the:

a) hen? 

b) duck?

c) pig?

top middle bottom

above        below
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Varied Fluency 3

Describe the positions of the animals below.

top middle bottom

above        below

Where is the:

a) hen? The hen is above the cat. 

The hen is in the middle. The hen 

is below the sheep.

b) duck? The duck is at the 

bottom. The duck is below the 

dog.

c) pig? The pig is at the top. The 

pig is above the dog. 
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Reasoning 1

True or false? Explain why.

Jibrail Danny Tom

Mel Faizah Zion

A) Danny is above Faizah.

B) All the girls are on top.

C) Below Mel is Jibrail.



© Classroom Secrets Limited 2019

Reasoning 1

True or false? Explain why.

Jibrail Danny Tom

Mel Faizah Zion

A) Danny is above Faizah.

True because…

B) All the girls are on top.

False because…

C) Below Mel is Jibrail.

False because…
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Reasoning 1

True or false? Explain why.

Jibrail Danny Tom

Mel Faizah Zion

A) Danny is above Faizah.

True because Danny is on the 

top row and Faizah is on the 

bottom so Danny must be 

above Faizah.

B) All the girls are on top.

False because the girls are on 

the bottom and the boys are 

on the top.    

C) Below Mel is Jibrail.

False because Mel is on the 

bottom and Jibrail is on the 

top row.
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Problem Solving 1

Draw a line from the car to the box it should be in using the clue.

The car is in the top row in the middle box.  
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Problem Solving 1

Draw a line from the car to the box it should be in using the clue.

The car is in the top row in the middle box.  



Reasoning 2

Explain who is correct.

Maria

Nico

The star is above the square.

The star is below the square.
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Reasoning 2

Explain who is correct.

Maria is correct. Nico is incorrect because…

Maria

Nico
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The star is above the square.

The star is below the square.



Reasoning 2

Explain who is correct.

Maria is correct. Nico is incorrect because the square is at the top 

so the star cannot be above it.

Maria

Nico
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The star is above the square.

The star is below the square.





Check your answers on the 

next slide!




